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INSTRUCTIONS
Answer all questions.
All questlons carry equal marks.
Only one answer is to ba given for each question, o
it more than one answers are marked, it would be freated as Wrong answer,
Each question has four alternative responses marked setially as 1, 2, 3, 4. You have fo darken onhly one
circle or bubble indicating the correct answer on the Answer Sheset using BLUE BALL POINT PEN.
1/3 part of the mark{s) of each question wiil be deducted for each wrong answer. (A wrong answar
fmeans an incotrect answer or more than one answers for any question. Leaving all the relevant circles or
bubbles of any question Mank will not be considered as wrong answer.) -
The candidate should ensure that Series Céde of the Question Paper Booklst and Answer Sheat must be
same after opening the envelopes. In case they are ditferent, a candidate must obtain another Question
Paper of the same series. Candidate himself shall be responsibla for ensuring this,
Mobile Phone or any other electronic gadget in the exarmination hall Is strictly prohibited. A candidate found
with any of such objectionable material with him/mer will be strictly dealt as per rules.
Please correctly fill your Roll Mumber in O.M.R. Sheet. 5 marks will be deducted for filling wrong or
incomplete Roll Number. i
10. If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and Engtish

Version of the question, the English Version will be treated as standard.

Warning : It a candidate is found copying or if any unauthorised matetial is found in his/her possession,
F.|.R. would be lodged against him/er in the Police Station and he/she would liable to be prosecuted
under Section 3-of the ALP.E, (Prevention of Unfalrmeans) Act, 1992. Commission may also debar
him/her permanently from all future examinations of the Commission.
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2 The percentage error in the measurement of mass and speed are 2% and
3% respectively. Estimate maximum error in kinefic energy.

(1) 4% @ 8%
3) 1% @) %
Wﬁm%wﬁwmﬂaﬁmﬁ 2% T 3% ¥ 1 TRmr wet A
w3 A i

) 1 4% @ 8%

(3) 1% @ %

3 An object moves in the positive x - direction with constant acceleration,
At x=50m, its speed is 10 mi/s, 2.0s later the object is at x =65z

Then its acceleration is
(1) 10m/s2 @) 20m/s?

() 5m/s? ' @ 15m/¢2

wm+x&snﬁ‘ﬁmaw%w%mm% | af¢ x=50m
D AT 10m/s g 205 IR A€ x=65m W ¥ | o @y

%
() 10m/s2 () 20m/s2
3 Smss? @) 15m/s?
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5 If the resultant force of two forces r and F acting on a particle js F,
L then the angle between the two forces is -

(1) 00 @ 1200
B) 600 (4) 9gpe°

ol & w @ g ?aen F mﬁ%wmv&vnﬁw ?
B, A A e F ey B g

(1) o° | (2) 1200

B) 60° (4) 900

6 When two masses My and my are acted upon by the equal force F, the

ratio ¢ -4y of the accelerations obtained by the two masses is -

¢)] m i m, | ) (2) my m

@) mymy 21 e @ Limpm,

ekt my g om, T I F @ v o o 3, o o
ﬁﬁﬁmmmﬁwaﬁm 4 :ay ¥

(D my 1y : (2) m, :'ml

@) mmyi1 @ 1:mym,
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7 The reading of i i .
S Of two ideal SPring balance I and Iy gre respectivel
- y :

I
m
4 kg

(1) 4kg 410 |

’ 8 .
2 8 kg, 4
) g
B) 4kg 8k

(4 4 kg, 16 kg
Igq mmsfﬁﬁvrgm%wﬂ;aﬁmw

I
i
4 kg
(D 4 kg, 4 kg @ 8kg4k.
, 4 kg
3) 4
) kg, 8 kg @ 4 kg, 16 ke
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An antomobile is moving along a road with speed O . If the coefficient

of static friction between tyres and road is K, what is the shortest distance
in which the automobile can be stopped ?

2 2
3 B,
0 ; 0
1 2
O e @ g
2 2
29, . 92g
0 0
Gy —r @ 5
Mg | by

T AT WF W U uW ¥ @ @ ¥ | wR aww o oo wew
4 At wfw e g, o 95 e o Rl amT @y e o

4] 0
A 1 — 2
Ol ® g
2 2
29 Vyg
0 0
3) . “)
u.g 2u

9 A spring when stretched by 2 cm, has potential energy U If 1t is stretched
by 10 cm, then the potential energy becomes :

m 2 @ 50U

U
3) > @ 25U
qmﬁwaﬁaazcm@mw%aamﬁrﬁaﬁmaﬁfU%wﬁ
fam w1 10 cm @iwn S o sww Rafis st w6

U
(H 3 @ s5U

- |
3) P . @ 25U
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A particle of mass m, moving with a velocity of 5 m/s, makes a hea\
on elastic collision with identical particle, which is initially at rest. Thé‘u:__

final velocity of first particle is :
(1) 2.5 m/s @) 10 m/s
(3) 5 mis - 4 0 mfs

5 m/s T F TR 7 TATT BT HUT TH T REX 9 ¥ WYY TARED
THEHY BT & 1 WO W B Sk S @ o

1) 25 ms @) 10 ms

B) 5 mfs (4) 0 m/s

The moment of inertia of a solid sphere about its diameter will be :

MR? 2.2
m M @ <MR
.
¢ MR > @ MR

el S iR W sEd e ¥ ogRy wee omgel e

2 o
m M @ MR
S p2
@) MR /-' 4 Mr?
9/ ,
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Torque applied on a body and its rotational kinetic energy are expressed
as following :

) er,(}é)va @) r-F,(%)Ivz
@) rxF,(Y)12)r2 @ r-F ()13

T v oW e ww g et s o R et R e
¥ = fey W ¥ -

‘- Wy rxF(J)12 @ rF ()

G rxF(J) 12 @ rF ()12

13 If the frequency of a particle performing SHM is f, then frequency of its
kinetic energy is : :

O f 2 o
S
2

(3) @) 2f

R e aEd TR B @ B9 B o f F, TR T Tl o

iy Bl

W 7 L @ o

(3) 22: ’ @ 25
(#)WpiResuLTe
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14 Which one of the following €Xpression represents forced oscillator ? .

Y
D —5+oy=o0 2) —=5=0
6y 2 @) =
2 2
(3) Q.}.zk—@-f-wzy:ﬂ (4) y+2k—‘?—-+m2y =FSlllpf

ﬁwﬁ%ﬁw~maﬁwwﬁ&aﬂwaﬁaaﬁm%?

2. | 2
dy 4 d<y
) ——+w V=0 2) —==9
( dr? @ dt
3 d2y+2k@+m2 ={ 4 d2y+2kdy+m2 = Fsin pt

IS Escape velocity from earth is 11.2 km/sec. Radius and mass of Mars are
about half and ope tenth respectively of those of earth. The escape velocity
from Mars would be :

(1) 25 kmy/sec (2) 22 km/sec
(3) 56 km/sec _ @ 5 km/sec

q&ﬁﬁwwanu.zmtﬁ./ﬁ.% |gezﬁ_a?rgamffﬁ1muza§’rﬁwr
aﬁsf%rawqam?ramoa“r‘% :ri?mas%wéwshr:

(1) 25 fEah Q. @ 22 f&.4 Q.
(3) s6 e, N 4 5 RaaA.
) INDIRESULTE
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Give the value of acceleration due to gravity at a height of R from earth

surface. (R - radius of earth) (&, - acceleration due to gravity at surface

of earth)

M g @ o
&s &s.

O @ =

bt e & R St ¢ o e A | (R — gt ) B,
&y — T WA® W o @) |

M g @ o
n & 8
® = @ =

" 17 Consider a wire 2 meter long and of cross sectional area 1 mmZ2. The work
' done for pulling the length of the wire by 0.1 mm is :

(given ¥ =2x10!1 Newton/m?)

(1) 0.5 Joule _ (2) 0.05 Joule

() 5x1073 Joule @ 5x10~4 Joule

T 2 WX o 7 1 W2 oy o doww % A @ erEmwom
BNE | TR @ waE W 0.1 A died ¥ fen o wwt ¥

fem ¥ ¥ =2x10!! a2
(1) 059w : @) 0.05 S
3) 5x1073 I @ sx107* @
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18 ! Wi
The Young.s modulus of 5 v e of length I ang
i an

doub] ;
modulus becomes - ¢ and cross section is redy

Cross section 4 jg ) 2 \
ced to half then Young'y

D 4y
@ r
3 2y y
4) >

IM% & syomy RN T BT 49T yeqrteay
1) a4y
2 r
B) 2y oy
| 4) >

A
1 p
S
2) Pa+—;_
G p_28 "
a @ p %

A
(1) »p,
28
@ f;,+—r-_
@ p-2
y - @ p %
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Given that the density of ice is 0.92 gm/ecm3 and that of sea water is
1.03 gm/om?, the percent fraction of the total volume of ice above
5ea water is -

1 1% (2) 39%
3) 8% . @ 9%

Rar gan & B % @1 wve 092 WA o Wt o7 @ e
1.03 am/aq.3 RURG TR I e S 9T I PN AT @

21 Water is flowing through a horizonta! pipe of non uniform cross section.
At the extreme narrow portion of pipe, the water will have -

(1)  maximum speed and least pressure

(2) least speed and maximum pressure

(3) least speed and least Pressure _

(4) maximum speed and maximum pressure

i mﬁ,qum%a%é‘r&mmff@ragw%lmﬂsm
VR ¥ w oww o

(1) st e ol e aw @

@) T oW wd i aw W

() W uwr wy g T9 q

4) e aw vt et g @

22 The formula of Reynolds number is :

(1) Re > @) L
_pvd ;_ vnd
TG om oy
pvn B ond
Re="—+ Py Re =11
() Re=77 @ Re=2"
(3) Re = E—v_‘i r.L';. 4) Re = _V_T_]jd_

n

g (
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23 According to law of equipartition of energy, the average translational ene,

24

25

of a free particle is -
(1) kr ' 2) k1/3
€) k2 4) 3k12

W%W%W%Wﬁﬁﬁ?w#aﬂmw
Wf%

(1) kT 2 k173

@) k12 @) 3kTA

For a perfect monoatomic gas, specific hegt at constant volume is :
(1) Rn2 2) R

(3) 3R @ 2R
quﬁg(ufsm—mﬁawﬁq%%qﬁuaammwﬁﬁmw%:
(1) R2 | 2) R |

(3) 3R/2 4) 2R

A system absorbs 35 J of heat and in the process it does 11J of work
The system follows 2 different thermodynamic path to the same fina] state
and does 20T of work the heat absorbed in the process is

(1 ) 657 () 447

() 461 4 317

() 65 @) 443

) 467 4 317
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26  Efficiency of Camnot engine working between a sink and a source at 27°C
and 100°C respectively is about -

1) 1/4 (2) 3/4
3) 15 @) 45

WHIT: 27°C Ua 100°C W oF &5 €9 1 67 & R o am 50
9 U B §9T O T WINT §

O 14 ' @ 3/4

3) 1/5 . @) 45

; 27  An object is cooled from 70°C to 65°C in 5 min in room. The time taken
L to cool the same object to cool from 65°C to 60°C will be -

- (1) more than 5 min (2) less than 5 min

(3) equal to 5 min (4) none of above

T B H TH G 70°C ¥ 65°C a% 5 min ¥ v A & | 3 Ty
B 65°C ¥ 60°C 9@ a1 8 § @ @ e

(1) sm?raifim (2) 5 min § @9 .
(3) 5 min @ TR Y § e T8

28 The sound waves of frequencies 250 Hz and 252 Hz produce a beat of
following frequency :

(1) 1 Hz | (2) 2 Hz

(3) 251 Hz | (4) 2501252 Hz
2503@@252@Wﬁmﬁﬁﬁﬁmmﬁmm
2GR |

(1 1w - @) 2w

3) 251 ‘523% . “4) 250/252 ESa ]
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29 An observer is moving with 3 velocity of sound towards stationary souré.-{‘
The apparent frequency is how much more in percentage from real
frequency 7
(1) 10% @) 20%

3) 30% . 4) 40%
1 .
TH T9H U R |t Ea 9 iR sy & g—ﬁﬂ@fﬂﬁrs’i’lﬁ% | SR
IR aatrs ey @ fea afew ol e 7
{ 10% 2) 20%
3) 30% 4 40%
30 A ray of light incident normal to one face of a prism is totally reflected.
If 6 =600, the index of refraction of the glass with respect to air is :
- ' AT ’
i
W3 | W3
1) only — 2y z—
(1) only = @ =%
2 - > 2
@ oy @ >
e iR % Uw W Y wRaq SR OF Wil o R quia: st
q W ¥ 1R 9=60° @, W T m wA ¥ WNE owEdis ¥
{
3 3
(1) &= £ @ = ‘—/:
2 2
2 2
—— P
@ ¥ @ >
EB52 A] 14 ~ [Contd...
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A converging lens of focal length 10.0 c¢m is placed in contact with a
diverging lens of focal length 5.0 cm. The power of combination is :

(1) -10D (2) +10D

(3) +20D (4) -20D

10.0 cm wiHE T *1 & el d9 5.0 om www T F omard A
& Tah N @ ¥ | 99 o e § o

(1) -10D (2) +10D

(3) . +20D (4) -20D

In a compound microscope the image produced by the objective is :
. (1) real, enlarged and erect

I (2) real, enlarged and. inverted

(3) virtual, enlarged and erect

i (4) wvirtual, énlarged and inverted

a0 gl ¥ efigyme g w awn ghie oar ¥ o

i (1) avafew, smalfa qar Qe

(@ R, smatfa @ Se

(3) onvRil, omaffe @ wen

(4) oW, omafta @ Sw

33 The inward and outward electric field flux for a closed surface are

respectively 8x103 and 4x10° Nm2/c. Then the net charge inside the

surface is :
4><103 3
1 t C ) +4x10%g, C
- &
. 3
4x10
- C
3) -4x10%g, C @) ~

www%mﬁraﬁmawwa&eﬂTWﬁgﬂmmw:
$x10° gl 4x10° Nm%c%l?élag%mmﬁzgr%m%:

+4><103C 3
(1) - @ +4x10%,C
: 3
4 %10
_ 3 - C
@) -4x10%g, C ) @) -
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34 Magnitude of electric field at 3 point inside a sphere with spheﬁ\

.

distribution of charges is "propbrtion& to :

. Rad
I r ) 1
(3) 142 4 113

where r is the distance of the point of observation

wRE fe % ey d
a r @
@) i | @ i

o R Ry W b A g

INDIRESULTE
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from the centre,

35 If the magnitude of intensity of electric field at a distance X on axial line

due to a given dipole is £. Then magnitude of intensity of electric field

at a distance X on equitorial line will pe -

E
JORPY B O

1) 2K @

N | b

r
@ £ @ -

. 4
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37 Equiva_]ent capacitance of the following corﬁbihation is :

T | [ 10pF
Vv T |
=4
1 — B uE
— SHF '
(M 73pF @ 32ur
@) 1our @ 18y
FoT wpe @t gog aften 3
T [ 10uF
Y [ ]
-4
1 = B HE
@ 73pF @ 32
B 19pF @ 1spF
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38 In a meter bridge experiment null point is obtained at 20 cm from on.é\ :
end when resistance X is balanced against another resistance ¥ (>X). What
will be the new position of null point from same end when a resistance
4 X is balanced against ¥ ?

(1) 40 cm : (2) 05 cm

N

(3) 80 cm (4) 50 cm

Aoz ¥ FAm A v X whedw o wRrda ¥ X)) ¥ wgRe e s
%Eﬁ@iﬁﬁﬁgﬁ@@émcmmé—&% | 91§ 4 X Y @y
y iy ¥ dghve few s ¥ @ o R & 9 dges W e ?

(1) 40 cm : (2) 05 cm

(3) 80 cm 4 50 cm

39 On a resistor, four colours are orange, blue, yellow and gold respectively,

then the resistance will be : !

) 36x10% ohm and 5% tolerence | |

2) 36x10% ohm and 10% tolerence

(3) 36x10% ohm and 20% tolerence
(4) None of above | ‘

ofr Tl wRrdw® W AR O Faw A, e, @ ok gea ¥ A
wiedy &1 wF AW

1) 36x10* i e 5% wEE
2) 36x10% 3w @ 10% el

@) 36x10% oim @ 20% Wl
@) wwde ¥ ¥ FE &

EBS2 Al | 18  [Contd...
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- A charged particle of mass m and charge g enters in a magnetic field with
inttial speed . If the direction of magnetic field makes @ angle with
velocity of charge particle. Then speed of particle when it come out from
magnetic field will be :

(1) more than © _ @

(3) less than § (4 zero

mﬁEﬁﬁHﬂTqaﬂﬁﬁTﬂaﬁﬂTﬁWWWﬂ%ﬂﬁma’T

ﬂ%u%maﬂm%laf&w%aﬂamgaﬁw%a%mme
T, o g & ¥ W PeR W oww @ e

W) ¥ ehw @ b

3) o9 w9 o 4 =

The temperature of transition from ferromagnetic to paramagnetic is cailed :
(1) criti_c_:al temperature . (2) absolute temperature

3) éurie temperature | (4) melting temperaturt;
¥ v e w9 e g, eqgeEs o e § o
1) wife aw @ W am

(3) =gl am (4 e 9"

Consider a long and thin straight wire carrying a current /. Magnetic field
at a point (not along the length of the w1re) at a distance 7 from the wire
is proportlonal to .

w rr @ riI

3 I/r @ I/42

_mlmﬂgaaﬁ@?%ﬁmﬁmmi@ﬁﬁw

G A A wEE F ogRy T @) W AR - W W &, g
e % wumERh ¥

(1 Ir @) riI
G) J/r 4) 1/
@INDIRESULTE
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100 turns of copper wire (which is coated with an insulator) are wrapped -
around iron cylinder of cross sectional area 0.001 meter? and are connected

to a resistor. Total resistance of the circuit is 100 If the longitudinal

magnetic induction in the iron changes from | weber/meter? in one direction
to I weber/meter? in the opposite direction, the amount of charge that flows -
through the circuit js - : '

(1) 2x10™% Coulomb @ 2x10"2 Coulomb

3 1074 Coulomb - 4 1072 Coulom_bl

ﬁ'%m@wmﬁwﬁang)%loowwo.omﬁﬂa@w
mmaaaﬁ%amwaaﬁw%eﬂrﬁwmaaﬂa
TR ) uRey W gw wRidy log%ruﬁﬁﬂ%ﬁaﬁéﬁww
wﬁmﬁ'l%aw/#rﬁéﬁuﬁaf&mffléwﬁﬁw%a‘rw&w
¥ o oY W ¥ swad wer b

M 2x107* purg @ 2x1072 gug

3 1074 T @ 1072 wam

In an AC circuit, a source of rms value 220 V is connected. The circuit

components should be capable of tolerating the voltage of :
1 220v 2 1ov
B) 1556V 4) 3111 v

wmmﬁmuﬁqqﬁzzovaﬁ—wq@wmahﬁﬂaw%i
trﬁw%mauaﬁw%ﬁmmmﬁﬁaméﬁaﬁq:

(1) 220 v (2) 110 v

(3) 1556 v 4 311V
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In a LCR circuit capacitance is changed ‘from C to 4C. For the resonant
frequency to remain unchanged, the inductance should be changed from
L to :

@) 4L

L
(D B

L
3) 2L (4) 7

LCR wiuey o Cluﬂmﬁﬁaﬁiﬁ4caﬁm%ﬁmﬁiﬁwﬁfﬁ
ae gt safEi W@ & fu w@ied @ 99 L ¥ fraw sae
s P '

.
® 5 @ 4L

3) 2L | “ 7

Two polarizing sheets have their polarizing directions parallel and as a result
the intensity of the transmitted light is & maximum. One of the sheets is
rotated in such a way that the intensity drops to half. Which of the
followings is the correct angle of rotation ? '

(1) 90° (2) 60°

() 450 (4) 300

A gam i (sheets) B gaw Rwd wuraRR ¥ ok aRomResw fre
TeblgT ! chgan Aferad ¥ | Ua 9fe @ 39 W gEmn o ¥ 6 e
ol T owll ¥ ) B A @ e W@ g @ e @

(1 9 (2) 60°
3) 45 . @) 30
%/ INDIRESULTE
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In an interference experiment 10 fringes are observed on a screen when -

light of wavelength 600 nm is used. If the wavelength of light is changed
to 400 nm, number of ﬁ‘inge_:s observed on the same screen will be :

(1) 15 2) 20
B) 10 4 5

SAHTT FqT F 600 nm B WBIE vgE W W 9 W 10 By wr
ﬁﬁ%lﬁ40@mmwsrm%mm%,ﬁaﬁﬁww
ot o w7

(1 15 () 20

@) 10 @ s

The wavelength of an election of energy 100 eV will be :

fu} ' o)

() 124 @ 104

3) 1004 - @ 14
100 eV ol It Uh 3o @ aoresf e

G) 1004 @ 14

When blue light is made incident on a metal, photo electrons are emitted
but when same metal is illuminated with orange light no photo electrons
are obtained. If red light is made incident on the metal than :

(1) less electrons will be emitted.

(2) electrons of lower energy will be emit.

(3) more electrons will be emitted.

(4) no electrons will be emitted. : _ :
m%&mw%m&rmmm%ﬁﬁﬁsﬁwmﬁa
B ¥ g wte g W Wi sirafre Rean v ¥ @ soe
SN T FE ¥ gl wee Woww g oo, e 9w

(1) =9 oo saifg &% 1

(2) &9 T & INEE SwiT B |

@) ofts soiwgm Swifa @

() 3 3owRE swbfa TE 2w o
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¥/ 50  Volume of a nucleus is proportional t o the following :

(1) Al3 (2) A3
G A (1 A3
uh AE & a4 Y o ¥

(1) A3 - 2) A3

3) A ) A3

51 When 3(2)8 Th gets converted invo ; ;'3!231', then the number of emitted o

and P palncles are :

(1) 40 and 1 . (@) 20 and 2B

(3) 4@ and 2( © 4 30 and 28

- zst,,, 225, ¥ ol @ %, G o o ¥ p el @
(1) 4o @@m 1 (2) 20 TET 28
@) 4o T 2P @ 30 W 23

52 Shape of the output signal in. the follmﬁng wou'ld be :

Vine~ Kb Vor .

O N vy
B) | ) __f'\_/-\_'
frr & Prfa Reeer @ TR
Vidz N\~ Virka
¢)) M | (2)
B) —U—U— @) |
EBS2 A [ Contd...
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53 The following combination « of gates is equivalent to :

A
—
s ) et
(1) NOT gate ' _ (2) OR gate
(3) AND gate | (4) XOR gate

far T ER EERE TEgE ®

A

) Dot
A—

(1) NOT BR (@ OR =R

(3) AND X (@) XOR TX

54 A carrier wave of peak voltage S'V is used to transmit a signal in AM.
The peak violtage of the modulati ng signal in order to have modulation

index of. E is :
(1 o6V 2y 13.5V
3) 12v ' “4) 45V

9_Vﬁmmﬁ"amaﬁw=q@gaﬂﬁﬁam@wﬁ@mm.
ﬁ%:q@aﬁﬁméﬂ%%ﬁﬁq;ﬁﬂwaﬁaﬂm@?wm:

(1) 6V | (2) 135V
(3) 12V (4) 4.5V

55 Electromagnetic waves are transverse in nature is evident by :

(1) polarization . (2) interference
(3) reflection {4) diffraction
foga gmem @l @ Wkl Agwd @ &, ¥ = e o e ¥
1) ygao ¥ (2) =l |
() woEdT ¥ . 4 f=xi= ¥
EB32 A} [ Contd...
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Th'e pseudo force acting on a particle of mass m in non-inertial frame

mon 7ing with acceleration ay is :

(1 ma @) -—may

@y v @ -mg

TH SNT T B gy wer @ wiyshe @ lwwmmﬁms’r

ﬁ & T R WH Gl R §§ &N
(1) may | @ ~mag
@) mg | (@) -mg
\ 57  Consider two 1 Yames of references X¥Z and X'¥'Z". The frame X'¥'Z"

is moving with respect to frame X¥Z with a velocity v in‘ Y-direction,
The correct relai tions under Galilean transformation are :

(]) x':x—wj, J.v’:y,z'-_—z, {':% (I'—VZ/CZ)

(@) x'=x, y'=sy v, z'=z~vt t'=¢
B) x'=x+vt, y'=:y, 2'=2z t'=¢
4 x'=x-w, y"=5\:, z'=z, 1'=¢

& Pyt 7= XPz o _:"X'Y'Z'ﬂ?f HTUR BN | & X'V'Z" o
ma;m&ax_ﬁrmﬁaw,‘rv%wﬁﬁﬂﬁ% | Fefiferem womaw & el

(1) x'=x-vt y"=y,_z"=.f=', f'=f/1’(1—v2/02)

@ x'=x, Y'=y-vt, zti=z--vl, t'st¢
(3) x'=x+W‘, y':I:y, z'="1z, f'=t
(4) x':x—vt’ y':y’ Z"—_-,.Z’ t|=.r

EB52_A] [ Contd...
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38 A particle falling verticall . .
y downward in north i _
be displaced toward - an hemisphere of e yih W,

(1) Initially left then right
(2) Right of its direction of motion
(3) Left of its direction of motion

(4)  does not displaced from path
g&n%wﬁmﬁwaﬁaﬁaﬂrﬁﬁwaﬁmm;
) wow ¥ 5 ok R < i

(@) vaa wfq @ SR eix

) T R D T i

@) w9 frafe 8 8m

59 Half life of % —meson at rest is —8 ' '
1.8X107° sec. : Its halflif en i
with a speed ¢/2 will be - | e el

(D 1.56x10783ec 2 2:08x10°8
.. Sec
(B) 3.6x10 8gec @) | 0.9%10 8 gec

QT W fRm e & IS e 18x1078 Q. T
W o2 T ¥ AT Y s amy Y- e

M 156x1078 3. @ 208x10°% @

?3) 36x10°8 @ (9 09x1078 3
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_dr | _dr dp
M =7 . | @ =
. _d_r B g’i
(3) T—det .(4) T=r =
U g #Xd §e e w Ry wiee § o
N _d &
0 = @ =
@ t=pxd @ t=r-®
dt at

The energy loss in perfectly inelastic collision of two identical particles
in laboratory frame of reference is -

(1) 100% Q) 25%

(3) 7% @) 50%
m‘manmﬁi‘wﬁffa’rww&{uhz ATARY ZFHT | FHel|
AL .

(1) 100% Q) 25%

G 75% @ 50%

62 Displacement x of a lightly damped simple harmonic oscillator at time 7
is given by x = ge~0.01f sin{ 4¢)

where a is a constant,
Quality factor of the system is :

(1) 400 ) 200
(3) 0.005 (4)  0.025 o
wmﬁ#&ammﬁ&w%fmw:wmx%
x=ae 00U ) (4r)

fore o s Praw &

FE @ e e ¥ o

(1) 400 (2) 200

(3) 0.005. . (4) 0.025
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63 For a driven oscillator maximum power absorption occurs when phase, -
the force leads that of the displacement by following value : '

64
_%g
m 5
A
3) %
2
m
o
® {3
EBS2 A]

(1 o
T
3) 5

2)

4)

&l

kL

@ MR A F fg ofmmm i smvier g ¥ i s @) e
framm @ P oo @ o B 3 '

¢y

(3)

0

I
2

@)

#)

Sl

’ A
If wave velocity in water is % Then group velocity of wave is

(2)

4)

g
8xn

g
2n

gA

O

gA

. Oy
%) INDIRESULTE
//J/!ansgl EEEEEEEEEEEE
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Taking force constant for CO bonds in CO, molecule to be
10° Newton/meter, the normal mode frequencies are :

M) 3.6x1013H;, 6.9x10!3H;
@ 3.1x10138;, 6ox103 4,
BG) 3.6x1034z, 5.9%1013 ;5

4 31x1013Az, 5.9x1013;

Cozamﬁcoa‘aﬁmaaﬁmmlmmgﬂ/ﬁaéﬁnga
(i) His argfaat ¥ - '

() 36x1013 &7 59x1013 ww

@ 3.1x1003 w&= 69x1013 ww
@) 3.6x100° w= 59x1013
@ 31x100 w5 59x1013 wEw

66 The ratio of speed of sound in Helium to speed in Hydrogen at same .
temperature is :

7 1
OIS | @ 43
) 21 “) a2

me%uqamm@mﬁwﬁ%%wmﬁm:

W o= | o
S | 5
(3)_ V21 @ 7
BszAl o Y, [ Contd...
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67 Choose the correct statement .
(1) Low pitch sound is. known . a5 shrill sound.
(2) Pitch is not related to frequency of sound.
() High pitch sound is known as shrill sound.
(4 The pitch of lions roar is very high.

aﬁmwwaﬁf&m:

68  Energy of a sphere of radius R charged with totaj charge O uniformly

3 _¢? Y o
o Bl e )

EBSZ_-A] _ 30 [ Contd...
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The expression for classical radius of electron is given by R = 4

where value of 4 is :

2

®m = s
5 2 5
3

@ 2 2
5 (4) 5

_ 2
Eﬁﬁﬁﬁﬁwﬁwmmzhff% @ o s 3

me

Wl 4 W oA E

2
OB @) %
® 2 @ 3

70 Atomic polarizability of hydrogen atom is found to be proportional to »th

power of its Bohr radius 9. Here n is :

1 ) 3

@ 2 @) 4

TERIE T WY wm e @ Ry % ﬁn‘q“fmﬁ%w
W R )= aow A

(1 1 @ 3

G) 2 | @ 4
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n Pmssons equanon xs wntten as following :

@INDIRESULTE

E 2  PE_ E PE PE_ p
52 St 322 @ 2 5T &g
W VL . an ey

3 - = =t
®) %22 520 @ APy €

ﬁsﬁﬂﬁaﬂwﬁwm%ﬁ]@w%:

O’k PE Ok PE PE PE_ o
M ox? 32 B @ * o

A2 ay2 3z2 €0

.82V+82V % . T W 3y

+ = -———+——-+-———=—-———
3) Ox2 8y2 022 ) ox2 ay 972 £

72 Consider two paraliel plates at a distance ¢ from each other and charged
at potentials »} and ¥y respectively. Electrlc field at a point between the

plates at a distance d; from the first plate is -

Vo —V; -V
1
® -2 @ -2-14
Vo ~V: V -V
2 T 2 "1
- —~—=d
@ g @ =g

W ¥ W d gl W et musn N g ¥, Raet w emte
ﬁw%ﬁm%n%%mwmﬁzﬁ d g

W & g W R dw b
v, ¥, vy v,
M -2 @ -2-1g4
v, ~¥, Vy ~V,
2~1 21
G - d, | “@ - d| d
EBS2 A] 32 [ Contd...
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o (5),F, o
%), (%)
G (o , \3s)r (4)
T U W WY B gIE BN
' (oTY) _(dp
@) (_6?)5{85 l, @)
oT _(Bv)
G o v_. s T €y
J‘
@""UR suc
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The reciprocal of deflection sensitivity of Cathod Ray Oscilloscope (CRO)

is known as :

(1) Current sensitivity )
(3) Deflection difference Q)

Deflection factor

Deflection frequency

wehis R Aol (CRO) B Ridtw gt 1 =gob e ¥

(1) =W g @)

(3) W8T =} @)

Choose the incorrect relation :

f‘q’éﬂgﬂﬁ-_

fadw smgia

(%%L%%—‘;L
o) (),

op Jg \0S » ' :
%),-(2)
gv p ds J1
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75 In Wgas,iaccording to Maxwell's speed wise distribution law, the root me‘;ix__

Square speed of atoms is :

3kT ST
(1) By ='7;" 2 9,,.= ’-_m_.

3&kT 8T
(1) By =_?;_ @ B, =V_m_' :
3kT 2kT
B) By = m @) By =V m
76  The enthalpy of a gas before and after Joule Thomson expansion are
80 cal and ‘120 cal If the enthalpy of emerging liquid is 60 cal, the
coefficient of performance of regenerative cooling is -
1 ) S _ . Y
M 3 @ <
y L 4
® 3 @
me%-'qﬁ"amwﬁwﬂﬂa%@ﬁmw: 80 cal wer
120'@%_Iﬂﬁﬁﬁﬁﬁlﬁﬁaﬁ@ﬁ60m%?ﬁgﬂﬁﬁ$ﬁ sftaerr
®1 frome oie & -
2 1
m ® <
1 1
® 3 A
(%) INDIRESULTE
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77  According to Nernst's theorem, value of entropy of a system at absolute
zero temperature will :

(1) be zero
(2) be small positive
(3) be small negative

(4) depend upon the process followed for cooling

| TR T WE ¥ AgER, TH ¥ a0 W @ e @ ol @

V) =
) Ba w S
(3) o TS

4) oo & e s © ftr o Pk SR

78 Entropy and thermodynamic probability are related as :

o s<(3)mo @ s=(z)me

(B3). S=kInQ 4) S=klogQ

T ot wemEE WRmar B yeR ¥ getud ¥ o

D S=[%)ln9 (2) S=[%)logﬂ
B) S=khQ . 4 S=klogQ
| INDIRESULTE |
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e 79 According to fermi dirac or Bose cinstein statistics, choose the COTTy
Statement :

() o and 3He both are Boson.
@ o and 3He are Fermion.
(3) « particle is Fermion and 3 g is Boson.

(4) o particle is Boson and 3 He is Fermion,

ﬁmwmmmﬁmﬁﬁwaﬁﬁmﬁgﬁq
(1) o 7 FHe 9 i ¥

@ o T 3He AN wikE &

©) o B wRT ¥ g 3. @@ x

@) awaﬁ@-—f%am%fetaﬁfm:r%l

80 In the figure below, a circuit and its Thevenin equivalent are shown,

Ry
60
24V —— Vo, —
—_— 8 Rys320 Th _—_ Rig320
The values of VM and RTh are ;
(1) 8V, 80 2 87,120
(3) 127,80 | @ 127,120
ﬁ%ﬁ%ﬂmﬁwﬂf’w&law%ﬁﬂgﬁqmw% !
RTh

J 60Q 40
2_4 == 8Q Rp$32Q Vrpyo—

Vip R Ry % e ¥
(1) 87, 80 Q) 8V,120
(3) 12V,80 ) 127,120
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Find the value of current I in given circuit -

I 1200
120 Q2
12V —
Iy 0A (2) 0.06 A
(3) 005 A 4 01A

g o wfwe § awr 1 @ AW T R

I 1200
1200
12V -——/—
(1) 0A | (2) 0.06 A
(3) 005 A 4 01A

82 The relation among transistor parameters o, B and 7 is :
M P=r=—=y-1 @ B=r==v
@) ‘x:T_%":Y“ @ y=l-a=PB+l
FiRET AT o, B ok ¥ ¥ waw ¥
M B=~_—‘_%=v—1 @) B=£—‘E=y
(3) (x=-1_~[~3§=7+1 4 y=l-a=p+1
oAl ) WDiReSULTE  (Cona-
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r
1. 0_ @) Py
T
3) 5 @ =

84  Negative feedback in an amplifier -
(1) Increases the current gain |
(2) Decreases the stability _ ;
(3) Decreases the input impedance

4 Increases the frequency bandwidth
JEECC I i T RS KRS

() &m0 Ferm s &

@) Wil g

@) e yRrrn gz &

@ SRt T e g &

e —
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86  The given figure is schematic symbol of :
(1) p channel JFET (2) n channel JFET -
(3) p channel MOSFET (4) n channel MOSFET |
e m Ry il fre ¥ . |
() p 9w JFET 2) n ¥ JFET
() p ¥ MOSFET (4 n ¥FW MOSFET
| INDIRESULTE
EBSZ__A] C" !NRDJ uuuuuuuuuuuuu
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87  Newton's rings are observed between a convex lens and a plane plate. '1\

88

diameters of 9 and 14 rings are 3.37 and 3.78 units respectively. Diameter ._
of the 4% ring is :

(1) 2.90 (2) 296

(3) 166 @ 740
@ﬁaﬁaﬁmmmﬁﬁz%ﬁaw%aﬁ(%m)ﬁ@%%!
9é’feﬂ114E?f.ac—cﬁé\sarmms1:3.37as.73wr§_%Iagefaﬁ_r
o S B

(L 290 Q) 296
G) 166 o @) 740

The path difference between two interfering light waves at a point on screen

A _ _
is 1 The ratio of intensity at this point and that at the central fringe

will be :

3
(1) 1 @ 7
) = - 1
@ 7 @ 3

ﬁ%@ﬁgwaﬁwma’rmmaﬁﬁ%mqw%%l

T g W dEm T =i Bew @ den @ ogum ¥

1 1 (2)

1 1
G 7 . @ =
4 bl 2
Y
(# WoiResuLTE
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./ " 89 The formula of area of half period of zone is :

b
M) 1;:— @) b
A
® = @ 276

HBE W & AT w1 g §

- nb
i O @ rbh
A
b

3) @ 2xbr

90 How many lines per cm are there in a plane transmission grating which

gives first order line of wavelength 60004 at angle of 30° ?

(1) 15000 per cm 2) 833300 per cm
(3) 8333 per cm (4) 4117 per cm
mwwﬁafr&wﬁnﬁrﬁﬁmﬁmﬁa&ﬁwﬁmﬁ@ﬁﬁ,

& s 60004 THT B AT HfE @r 300 ooy @ 3 ;7
(1) 15000 wfy &f (2) 833300 why ¥
(3) 8333 wfw afr @ 4117 9y W

91  The relation among coherence length L, speed of light C and coherence
time 1 is :

C

(1) L== @ L=1C
-

3y =2 4 L=—t

() L—'C_ () ‘IIC
WWW@L TH B AW C qor wA T e g N
g ¥ o

) L=% @ L=tC

3 T gy L=-b

() L='E () C
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92  The ratio of Einstein's coefficients - is pro ortional to »! power of
B prop P
(7377 _

v, here n is :
(1) o 2 1
(3) 2 @ 3

FEACNT AT T E o b TR

WWWWﬁ,va&nﬁm%W%

Tw@on o
(1 o @ 1
3 2 | | (4)' 3

93 The eigen value of energy of hydrogen atom is -

—212me* ~2n%me?
(1 E,= 2 @ B, =—
n2h2(4ﬂ:eo) n<h (4‘11:60) | -
|
—2mel o2 2
@) E, =TT @) E, =2
nh (411: EO) n2h2(4ﬂ: eo)
TR O] W1 Sl e e &
24 2 4
_2 —
() E, = n-me 5 @) E, = . i‘.’t me
n2h2(4mo) n2h (41:60)
—Tczmez —21:2me2
nh (4_-‘.’1:€0) n“h (411:60)
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# . 94  Choose the cofrect statement in conformity with Uncertainty principle :

(1) Ax-Apx~)‘z;Ax-Apy=O 2) Ax-Apx'w}’i;Ax-Apyﬁvh

O Aspe=ayap, <0 (g - Bpe ~ 1 Ay Ap,, ~

erﬁiﬁaam%ﬁi@ia%aifmqmﬁmmgﬁq:

¢y, Ax-Apx~h;Ax-Apy=0 #3) Ax-Aprh;Ax-Apy--a

"'-?{ _ 3) Ay-Apx=0;Ay-Apy=0 (4) Ay-Apx~ﬁ;Ay'Apy~k-

95  Number of spectral lines appearing i
placed in a weak magnetic field are -

; M 2 @ 4
B 6 L @ 10
wﬁaw%ﬁﬁmﬂw%ﬂﬁ%ﬂ(ﬁm)ﬁﬁww
e W Hen @
O 2 @ 4
@) 6 @ 10
96  Choose the incorrect relation in the following -
W [Z.x]=iny @ [L,.y]=-inx
3) [Lz,z]:ihz @) [Lz’z]:()
Fra % & od o=y @ g
M [L.x]=iny @ [L,.y]=-inx
3) [Lz, z]:ihz 4 [Lz, z] =0
' U ESULTE Contd,.,
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The period of a linear harmonic oscillator is 1. Its zero point energy is: *
D o @) 66x107347

3) 33x10734 @ 33x10713;7
faw omadi @fes w1 aEdEm 1s ¥ ) gEer g Reg ot ¥

1 o () 66x1073%4y

(3) 33x10734J : @ 33x107137

Separatlons between first three lmes in the rotatlonal spectrum of a
CO like molecule are :

(1) 0, 2B, 4B (2) 2B, 2B, 2B

(3) 2B, 4B, 6B | (4) 4B, 4B, 4B

B is rotational constant of the molecule.

CO 9 &Y & YUi1 avmd & wad & T@iel & me gRal wEen d o
(1) 0, 2B, 4B (2) 2B, 2B, 2B

(3) 2B, 4B, 6B (4) 4B, 4B, 4B

B &9 #1 iH Faa® ¥

7 15 |
The parity of 347 [1P3 ] and 7N [11”1 J are respectively :
parity A A p y_

a 1,1 @ -1, -1
3y 1, -1 @ -1, 1

Li7{1p%] e 7N'15(1p%] & s @) wwe ¥

1 1,1 @ -1, -1
Gy 1, -1 . @ -1, 1
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100 Which one is not 2 property of nuclear forces 7

(1) short range (2) charge independence
(3) spin independence (4) exchange behaviour
j TR T W T -
33 | -
L} (1) @G W (2) omEs W afrdar
iljl ; ,
i (3) @ st 4) Rt =
y _ _
101 Possible angular momentum quantum number .of deuteron nucleus is -
| -
i (1) - Only 0 () Only 1
(3) Either 1 or 0 (4) FEither 1 or I
’ (1) Faw 0 @) ¥ i
G) wariao @ a1 -1
102 In liquid drop model for binding energy of nucleus, the term representing
Coulomb energy is proportional to the following :
21 ' 1
() z%243 @) 7243
2 2
G z43 | (4) z43
Wﬁémﬁ%fﬁqm;ﬁﬁwﬁfwwﬁaﬁﬁﬁﬁamﬁ
I T P F gegeRy Yo
1 1
M z243 @ 7243
_2 2
(3) z4 3 (4) z43
EB52 A [ Contd...
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In a cyclotron accelerator, the cyclotron condition is :

_qB _g8
M o=L @ =%
_qB _gB
@) = 2m @ f= 2m

_gB _95
O w=2 @ r=<
_qB _ qB
@) o= m “) 2m

104 The efficiency of GM Counter is 90%. If it counts maximum 6000 counts
per minute, calculate its paralysis time,
() 10 ms 2) 1 ms
(3) 0.1 ms 4" 0.01 ms
UF . Q. FT A awEr 90% 3 | afE F® et 6000 TR Yy
ﬁmw%a’rsﬂ%wmwﬁwm’r !
(1) 10 ms (@) 1 ms
(3) 0.1 ms 4 001 ms
105 Miller indices for a plane with intercepts 3a, 3b, 20 on chosen axes, are :
1 (L1 1)
1) {3,3,2) @ (333
3G} (2,2,3) 4) (6,6,6) |
TS |, ﬁwq%g%gaﬁww:wn,%,m%,%ﬁm
Y % :
531)
(3) (2,2,3) (4) (6,6,6)
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106 At high temperature, according'.to.Dulo.g and Petit's law, the molar specific:
heat of solid is proportional to :

1 13 | (2) T2

Gy T @ T°

SEETT T4 AT & Prem & SER T qw WX S He Rk s
1 1 | 2) T2

107 According to Kronig-Penney model, what will be the nature of: graph
between particle energy and % ? '

(1) linear - 2) paraBoﬁc

(3) exponential (4) sinusoidal R
HIFFT-AN Aiew & SHER, B W G £ a7 £ F wem @i @ am
BT |

(1) gs SRRTI Q) wEeg B oy

(3) aEEHT | @ =T

108 E - relation for a material is given as
E(k)=aq+bk+ck?

Effective mass of the electron for this, is :

7 . ) #2 R -
o ® ey "
® 2e _ 4) P

et wad &% fg £ wew 3
E(k)=a0+bk+ck2_

sﬂ%%t{sﬁa?:ﬁwwﬁ_m%:

W 42
1 a ) (3129
2 2
® 3 @ -
: (<7 INDIRESULTE
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109 Quantum of flux in a superconductor is :

b
"

hc he
1) e 9} >

Aic ke _ _ ;
(3) Py _ @) o ;

wa&iﬂmmﬁ'm(m)maam%:

y e @ X
1O @ e
G @ >
110 For a superconductor below critical temperature : __
- - - -
() E=0but B0 2) E=#0but B=o :
— -~ — -
B) E+#0 and B =xgp 4 E=0and B=0 ‘
wi~s T % N o ¥ fora - -,;
- — - -
(1) E=0fpg Bzo 2 E=o0fg B=0 1;|
- - - -
B) E=x0Ta Bxo 4 E=0d41 B=0 g
11 Hamilton's principle can be stated as following :
M 3[(r-v)ar=o0 @ 8f(2r-c)ar=0
@ 8f2rdar=o. | @) all the three above
%ﬁmm%@‘aﬁwmﬁwmmm%:
W 8[(T-7)at=0 @ 8f(2r-c)dr=0
@) 8f2rar=0 @ W& & &
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114 Gibbs Paradox relates to -

115

EB52 A]

(1) change in temperature on mixing of two different gages
2) change in entropy on miXing of two different gageg
3) change in temperature on mixing of two £3ses of the same kingd

(4) change in entropy on mixing of two gases of the- same kind

ﬁqqfﬁﬁmwﬁwémﬁaa%:

For a boson 8as at a temperagyre T < TB’ molar specific heat at constant

volume is given by -

33U : - -~ 5U

O @ o= |
o | 5 |
(3)_ ra : 4 37

U , : sy
O 5 | @
44 sy
3) 7 . 4) 7

ER
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112 How many maximum number of independent components can a symmetric

tensor of rank two have 'n' dimensional space ?

M @ ozl

I | @ 2l @ 2

wﬁ@uammﬁ’faiza;aﬂﬁm_ma%m?ﬁaﬁhﬂﬁqﬁwﬁ

wHaAl § —
W 2 @ )
@ 2l @

113 Intensity of electromagnetic radiation from an oscillating electric dipole is :
(1)- maximum at the equatorial plane

(2)° maximum along the axis of the oscillating dipole

n
(3) maximum at an angle of 2 from the axis of the oscillating dipole

(4) intensity is equal in all the directions

T Aritga fage faya @ fga gewl R @ diw
(1) R T R Al §
_(2)'63%&:33%@1&1%;@13&:1@1&1%1;%

() eelpa fge o & o o o 3
-(4) wh feonall ¥ dear Iwe 3

_ .
—_ @WPIRESULTE (o
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116  Application of WKB method to a perticle in a bound state gives a

_ b
quantization condition according to which value of Jk (x)dx is (where
a

@ and b are turning points at which potential energy equals total energy
of the particle) S

M (n+Y)n @ (n+)n
GB) (2n+1)xm @  (2rn+1)7/2

S ol ¥ % wm WX WKB Ry v ¥ w iy wiw dar
y

Rreds argar [k (x)dx ¥ (e @ it & Ream i frg ¥ Rt w2 v
) |

SO B B FE BN & 0T o B)

O (n+Y)n @ (ne)m

G) (2n+1)m | @ (2n+1)m/2

117 Given logic symbol represents

._...._R Q.———_.

(1) RS flip-flop (@ RS flipflop
(3) R-S clocked flip-flop @ D flip flop
o e ™ afhe e b -

._._.S Q._..._

———_.R Q-—.—_

(1) RS ™9 v 2) RS fmu wam
3) R-S FTH T Ty @) D v g
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respectively ;
(1) 47, 5p @ 47,217

() 0.5V 2y @) oV, 6V

(1) 4V, sp @ 4¥,2v
G) 05V, 21 @) oV, 6V

Which of the followings is not in accordance with Pauli's principle ?

(1) . No two electrons can OCcupy an eigen state having all four quantum
numbers indentica]

(2) If orbital part of the wavefunction ig synnn.etric, then spin part of

the wavefunction is antisymmetric

(3) If orbital part of the wavefunction is antisymmetric, then spin part
of the wavefunction is symmetric

(4) Both the orbital and the spin parts of the wavefunction must be
simultaneously symmetric or simultaneously antisymmetric

ﬁwﬁﬁq—mvﬁ%%%mﬁ%?.

) #ﬁmwwmmﬁﬁwmﬁﬁw

) a&aﬁmmmﬂwmwﬁa%ﬁmmwm
st ¥ |

3 w&'aﬁwwwﬁmwﬁ@ﬂ#ﬁa%eﬁaﬁfmﬁmwm

120° The fermi selection rule for B decay is :
() 4=04px0 - @ A=oap<o
@) A=04p=0 (4) A#0ap%0
B & & fu wlf o fm & -
M A=0,4Ap#0 (@) Aj#0,Ap=0
(B) A=04p=0 (4 AN #0Ap%0 .
EBS2 A] 52 _ [ Contd...
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Educational psychology is

(1) A normative science (2) An applied science

(3) Pure science (4) None of the above
e wAfEEE ¥

() "% fEmE @) o e

¢) TFys REw (4)acraaa~3f%aﬁ§ﬂ'é’f

Educational psychology is concerned with

(1) The leamner (2) The leaming process
(3) The leamning situations (4) all of the above
fyren TR Wt ¥ - |

) afrm wd @ st wEE A

@) ofrm Rafwat @ (@) vl |l

Human development is the result of

(1) Biological factors

) _Gehetic and environmental factors
(3) Social factors |

(4) Motivational factors

A T aform ¥ -

(1) Mys ww @ |

@) deriy @ aEEeE FTE

(3) wrntaw HREH @l |
(4) ARIRV FRH B °
%INDIRESULTE
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124 Chain learning is associated with

125

126

(1) Tolman (2) Gagne
(3) Thorndike (4 Bruner
Jam e gafu ¥ -

(1) s & @ TR
() arierw @ @ TR

Adolescence is a period of storm and stress - said by

(1) Cole (2 William Mecdougall
() Stanley Hall @) Bﬁcksqn
ﬁwﬁimarlwq&mﬁm%, wEl ¥

(1) @iw 3 @) Ffrm wmgm 3
B) B T 3 @ fy@aT 3

The teacher in the classroom make effort

(1) to provide €xpetiences tl‘o students

(2) to provide opportunity tc; reflect

(3) to provide supportive learning environment
(4) all of the above

thes sa-my ¥ e ¥ -

(1) frelfat & egva wom w5y &l

@ FElE & R ar omar 2 E2l
ORRECLCE I I S — & W

T s L A R ST e

) ST Tl /'. ' .
@ omresyLs
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127 Which one of the following is a stage in Kohlberg's theory of moral

development ?
(1) Pre-operational (2) Conventional

(3) Sensori-motor (4) Concrete operational

ﬁmﬁ%%ﬁmfﬁmﬁ@a%mﬁﬁmﬁiﬁgﬁﬁ%ﬂﬁ—%ﬁwm
W TH oREr ¥ ? ' ‘

(1) o dhraems Q) T
(3) wad-Utw @). ot dhrarrs

128 According to Jean Piaget Logical thinking start§ in -
(1) Sensory-motor stage
(2) Pre-operational stage
(3) Formal operational stage

(4) Concrete operational stage

Wit Reaw & orgar b Rrem wow @ ¥ -
(1) @R o §

) vd-dteaew o §

() olval® wiraes o

@) - o &

129 The founder of Behaviourism school of psyéht;logy was

(1) John Dewey -7 (@) William James
3) Kohler © (4) John B. Watson
wifee ¥ aERaEe o yRUET ) A F -
(1) s S (@ ifwem <
B3) =R @ w9 e
EB52 A] 55 [ Contd...

YOUR SUCCESS PARTNER

@lNDlRESULTE



L] . ':_ T
(#NpiResuLTe

49
indiresult.in whatsapp - 93520187
130 The achievement of learning i

(1) Attitude 2) Knowledge

(3) skil : (4) Al of the above
A B Preme 3

(D) efmgRy Q@ §m

B) T 4 I gy

131 Which of the following is Dot a principle of development 9
(D Itisga continuous procegs
(2) It is an individualiseq process
B i does_ not Proceeds from the general to the specific
(4 Itisa product of interaction _
ﬁr’?%rﬁgaﬁﬁﬁ?r-mfﬁmmﬁﬁmﬂﬁ% ?
I T Preww oy oy afbr % |
@ T dufew wirg 2

132 According 1o Gagne which one is the highest order of learning 7
(1) Chain learning -
(2)  Verbal associate learning
() Stimulys respongse leaming
4) Problem-solving learning
m%%aww&mqwmmmﬁv—m% ?
() @ efepry
@ aiew wwd o
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133 According to. constructivism, teacher should play mainly the role of a —

(1) Philosopher  (2) Friend
(3) Facilitator (4) Instructor
AR ¥ STER T AEE W geT S P wi -
(1) =it @l (2) B @
(3) GESHAl @ | (4) SgRSE Bl
i 134 Characteristics of creativity is —
(1) Originality | @) Fluency
; (3) Flexivility (4) Al of the above
O A @
| (3) WA (4) SylF |W

135 New knowledge is acquired through
() memorization

(2) transmission of knowledge

(3) experience and searching new meanings

: (4) none of the above

¢ i T A e o E

’ o "

s' (2) T ¥ e 9

190 (3) eagwaqﬁaeh#aai@a%%
. @) sad ¥ ¥ wig e,
= #NoiResuLTe
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136 Which of the following is not ap element of emotigng] intelligence
g

O managing emotions

) motivating oneself

3) recognizing emotions in others

(4) ability o discriminage among living things
ﬁ%ﬁaﬁ%ﬁw=mﬁﬂﬂnm§%maﬁaﬁ% ?.
(D HFT & gy

137 The stress related problem of the students can be removed through -
(1) Teaching (2) Commanding |
() Guidance and counselling 4)  All of the above
Rrenffar & g T T @ ay o Tadl & -
(M fieor 3 | @) fris @
G T o ot 3 4 ST gy

138  Advance Organizer mode| was propounded by —

(1) Piaget | @)  Ausubal
(3) Richard Suchman. €)] Dewey
T AR Sy foy Rear -

(1) ey @ ogiw

B) R woim . @ <
L TE
@lNDlRESUL
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, 139 Which of the following is not instructiona material ?

140

(1) Printed material (2) Transparency
(3) Overhead projector 4)  Audio-casset
ﬁqﬁlﬂﬂﬂﬁﬁﬁ?-—@ mﬁsﬁmﬁﬂﬁ% ?

1) =h FEoR @ R
(3) W T diwex @ o %ﬁz.

Communication with oneself is known as -

(1) Group communication (2) Mass communication
(3) Interpersonal commuhication €)) Intrapérsonal communication
o T B PE ¥ -
(1) W s9wT 2) < '
(3) ciedatm g @) sdaftes e
141 Which one of the following is not a defense mechanigm ?
(1) Regression ' (2) Association
(3) Compensation _ (4) Sublimation
ﬁlﬁrﬁrﬁgﬂﬁf@rﬁﬁ-@rmfﬁmﬁﬁxﬂé’f% ?
M L‘Iﬁﬂﬂ? (2) wwgd
(@) affs (4) SRS
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YOUR SUCCESS PARTNER

@lNDlRESULTE



@INDIRESULTE

YOUR SUCCESS PARTNER

indiresult.in whatsapp - 9352018749

142 Video-conferencing can be classified as one of the following ty,

communication —
(1) - Visual one way (2) Audio-visual one way

(3) Audio-visual two way (4) Visual two way
SO BERiT B Preties TOR & Wa ¥ witga e W wed -
(1) ¥ U a0 (2) 9999 Y& Tl

(3) T¥E-FH A AW @ T < W

143 Computer virus is a

(1) Hardware (2) Bacteria

(3) Software , (4) None of the above
FREY qEE T -

(1) T @ =i

() wRIW @) e ¥ B

144 Information Communication Technology includes —
(1) On line learning .
(2) Web based learning
- (3) Learning througl;n___}__l__le_ use p_f [EDUSAT
(@) All of the above
YO waw qEe § ataied ¥ -

@ ¥ ¥ e
(3) EDUSAT & wi=M & dE
4 wE 8
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145 Learner display individual differences, so a teacher should

(1) increase number of tests

(2) inforce strict discipline

(3) provide a variety of learning experiences

(4) insist on uniform pace of learning

Ameal AaiEs el R a1 ¥ om: Regs o
(1) whmst @ den T Ay

(2) B AT FR FEW AeY

(3) fafay sfrm owa Swes & i

@ oftrm @ T W W T W aly

How many factors are included in Guilford's model of structure of intellect ?
(i) 100 | | (2 120

(3) 200 _ \ 4) 150 _
Prereré T aRrfee few s F Hiew § Reed at @t i feen
™R 7

(1) 100 @ 120

(@ 200 | 4 150

S
Ty e

Which source will provide maximum and up-to-date information about a
subject ?

(1) Encyclopedia . (@ Internet

(3) Academic Journals (4) International Conferences

T iy Mg S SRR

(1) faaim A @ TR

©) wwehm W & @) e i &
@NoiResuLTE
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150

Who gave more emphasis to the theory of social constructivism
(1) Piaget (2) Kohlberg

3) Vygotsky 4) Kohler

e wmtae Fiifere § e W o aw R 7

(1) R () wrewet
() T (4) =EaT

Psychoanalysis is propounded by —

(1) Alfred Adier @) Sigmund Frend
(3) Carl Jung | @) Gardver
it frgwr B wRER R R -

(1) omhs Tse @ e wws
@) @ gu @ mw

'The responses which are followed by satisfying after-effects tends to be
learned”, is ;

(1) The law of excercise (2) The law of readiness

(3) The law of effect (4) The law of relativity

‘R wivteEelt @ et & s T ww A ¥ o O R
RICUI AT

(1) s @ fEw () uXal = frgw
(3) wwg @ FEm (4 wga @ fram
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